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There are 150 objective multiple choice questions in this paper. This Question Booklet is made up of the following
four sections : Section-I, II & III of 30-30 questions each and Section-1V is of 60 questions. The candidate has to
attempt all sections. Each question is of one mark. There is no negative marking for wrong answer.
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Total questions : 150 Time period : 90 minutes Maximum Marks : 150
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Section Contents Questions From To Fr:l:; To
(I Child Development and Pedagogy 30 1 30 3 10
(11} Language I (Only One Language) 30 3l 60
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instruction in the Online Application Form from the
Languages given below :
Hindi 30 31 a0 11 14
English 30 31 60 15 18
Sanskrit 30 31 60 19 22
Urdu 30 31 60 23 26
Sindhi_ 30 31 60 27 30 |
Punjabi 30 31 60 31 34 |
Gujarati 30 31 60 35 g |
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As sclected by the candidate as Language-1I | other
than the Language-l } in the Online Application
Form from the Languages given below :
Hindi 30 61 90 39 42 |
English 30 61 90 43 46
Sansgkrit 30 61 20 47 50
Urdu 30 61 90 51 54 |
Sindhi 30 61 90 55 58 |
Punjabi 30 61 90 59 62
Gujarati 30 61 90 63 66
(V) (IV a} Mathematics and Science 60 91 150 67 80
qgtl)lr Mathematics and Science Teacher)
{IV b) Social Studies 60 91 150 81 92
(For Social Studies Teacher}
OR
For any other Subject Teacher
{Can choose either IV a or IV bj

Note: 1. In Sections [l and lII, a candidate has to attempt the questions of Languages compulsorily, as
selected Language - I and Language - [l in the Online Application Form.
2. In Sections 1V, it is compulsory to attempt the questions of Section IV {a) or Section IV (b} as selected
subject in Online Application Form. For Hindi version of the above Table & Note refer to Page No. 2
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SECTION -1 / ©@VE - I
CHILD DEVELOPMENT AND PEDAGOGY
wTer farsra T forgmyma
There are 30 questions in all in this Section.
All questions are compulsory.
TWEE Y Fd 30T § |
it weA e ¥

1. Which of the following statemments is not true about development ?
(A)  Development is the product of interaction
(B) Development follows an orderly sequence
(C) Development is individualized process
(D) Development proceeds from specific to general.
frrddsrarrAfeamsmiTawe ?
) fawm smafea =1 v @) fowm wF sgafea S =1 S 2
€ fowm s afer e @ O) o fafwe & T &t o) S € |

2.  Children's thinking is grounded in concrete experiences and concepts rather than
abstractions. It is the stage from

(A) 7 to 12 years (B] 12 to adulthood
(C) 2 to 7 years (D)  birth to 2 years.
FETH] T T ST Y ST g AT TH Woordl | Bl § ) 9% s #
W 7¥I12MTE ® 128 T T
© 2% 798 T* D) A 294 TH |
3. Human development is the product of joint contribution of both
(A)  parents and teachers (B) sociological and cultural factors
(C)  heredity and environment (D)  none of these.
ga fawr o S & dRm 1 9o @ 2
@A) HAfYHEF T ST (B) H™IaF Ud Wipidd S H
(C) TYHH TE FaE F (D) 378 9 &% J87 |
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4 [}
Which of the following is not among the four determinants of intellectual growth stated
by Piaget ?

(A}  Social transmission (B} Experience

(C}  Equilibration (D)  None of these.
fra # 4 9F7 = ¥ organ difes faam w1 Rl aa 7@ €2

(A)  TEfS g=Ru B) 3q¥E

(C)  FeHEHT D) T ¥ PE T |

Which of the following is a better strategy for teaching children with special needs ?
{A)  Discussion in the classroom involving maximum number of students

(B) Demonstration by teacher involving students

(C}  Cooperative learning and peer tutoring

(D)  Ability grouping for teaching.

T sTavasa 9 7= B IgR & fou Frafafes ¥ @ Sh- o s s € 7
(a) afusan st wiafag S ge S A 9= e

B) foerfd = sfiwfan F@ T soms g Feee

(€ wESR afam qun dier =gefin ( wewfedi gr e )

(D) AR & fory draar snufta SgEE |

Ability of knowing the meaning of problem, weaknesses and gaps related to
environment is a characteristic of

(A}  Gifted children (B) Average children

(C)  Creative children (D)  None of them,

e F o H) T w1 A, ek & S, wivEl wd e % wfa wee R @
(a)  wfasmerEl el (B) TR ACkh W

(€ Rl aATH F D) T A wE

A college girl developed the habit of dropping the coat on the floor. Mother asked the
girl to get out of the room and hang up the coat on the peg. The girl enters house,
keeps coat on, approaches closet, hang up the coat on the peg. It is an example of

(A}  Chain learning (B)  Stimulus Response learning

(C) Concept leamning (D)  all of these.

TF HioE T At dgh T T e FFi st s T & g I WA TR Fw fF
FAL G AR WA AR Fe W G W AN | TEH! el WK W H FAV FA §, FIZ AT W
T F FATAR B TR o HR HIZ B G WA ;W E | 9% Ieew }

(8) SEEANT AETH H (B) SEMA-HwE St =

Q) w3 Ay & D) T H a0

DL (201
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11.

5 L-2

Extrinsic motivation may include

1. Praise & Blame

II.  Rivalry

[II. Rewards & Punishment

IV. Knowledge of results.
Of these :
(A TandlIIl (B) I, Il and Il
(C) Onlyll (D) all of these.
weg sty ¥ gufim fea wEm

[. 99 wE SR

1. fegfza

[, &R TE T8

V. TRom %1 9= |
A
A 13RI B I, 3R I
(C) @ad II (D) R AEH

A process in which an individual learns new responses by observing the behaviour of
another rather than through direct experience is known as

(A)  Social learning (Bl  Conditioning

(C) Experimental learning (D)  Incidental learning,

o ufiren # =afs gAY & AR F1 3@ W WEW E 7 fF yo@w a5, F wE o @
() HHifsE Afgrm B)  3TEEA

() v sfam (D)  omeRrEns AAferm |

The symptom of learning disability is

(A} tendency to escape (B)  restless, energetic and destructive
(C] disorders of attention (D) lack of motivation.

aferm e o1 waw @

(A) TR F yga B (B) ¥, HIGE TG [OLEEF g
(C) oraum Tt T/ faer (D) T 1 39 |

The personal factor(s) which affect learning is / are

(A)  Mass media (B]  Peer group

(C) Teachers (D)  Maturation and age.

AT I yufad H aren AfGT T &

(A) TR F WA (B HHITEF TR

() HvATH 19 Tece i i o

NN | P.TO.
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12. A cricket player develops the skill of bowling, but it does not affect his skill of batting,
It is known as
(A)  positive transfer of training (B}  negative transfer of training
(C)  zero transfer of training (D)  none of these.

e e faengt oot figat & $ivel #) fasfag o o €, W 9% Iu% Seoia & SIve #
wuifad Fe Far | 3 FEY ¥

(A} oo wfmeror S=Rw B) fumHs yfweor s=mm
(C) ¥ Ffaaor st D) 7 q*E T

13. Which of the following statements best shows the mental health of a person ?
(A} Full expression, harmonization & goal direction
(B) Lack of mental disorders
(C) Free of personality disorders
(D) Al of these.
f=1 4 | s-m w5 =t F amtes @ees #3990 w9 @ TRk a2
@) ol sfveafs, Tufder ik amm @e $7 9R fdem
B) WFfas fasml &1 9 T
(C) =i & IRl | giw
D) T A&
14. Though number of psychologists like Freud, Piaget explain personality development in
terms of stages but only Piaget talked of
(A) developmental stages which are determined by the environment
(B) restricted effects of stages to early infant experience only
(C) cognitive transformation to explain stages
(D) none of these.

TS, W To 3 HATasl 3 SAfhe faera w1 fafus sigene % g ¥ e # § 1 W
o |

A} e T fawmm =t sraeard gmerw @ fAvifa gt §
Bl  F7 F v F e € Afuss yaifaa w1 €, Sl sEensii # difng gwe T §
) fafus sraearsl 1 999F ¥ fou SuFcas acaE & 9 d el

D) 99 & T |

15. Guilford has given the term ‘convergent thinking’ as equivalent to
(A) Intelligence (B) Creativity
(C) Intelligence and creativity - (D)  none of these.
frrerenrg 1 * sifirardl fa=m o1 &1 wam frms TRA R H P E 2
w s (B)  geHCTR
(€ Fle T FoEHEHA D) T A FE T

LT
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16.

17.

18.

19.

7

Which statement is not true about interest ?
(A) Interests are innate and acquired
(B) Interests change with time

(C) Interests are not related to capacities and aptitude

(D) Interests are not reflection of attraction and aversien in behaviour.

i e d-memea s TR i g =g & ?

() sfeEl s=rea ot sifda ST B €

(B) Ffoal ¥9a & oFER I9odr W €

(€ el drgmedl & afuemansd ¥ watyw 7€ a6
(D) &ferai sraer § sy ud oo F wfifaa =2 &
The attitude is

L-2

(A) an emotionalized tendency organised through experience to react positively or

negatively towards a psychological ebject

(B) a characteristic that is symptomatic to the individual's ability to acquire with

some specifled training, some knowledge or skill in a given fleld

(C) a potential ability of an individual of a specialized kind

(D) none of these.

sifirgfa &

@A) TF EEE T W oy % g @fsa g e wRehe awg ¥ uft wwet @
M % 9§ Ffafwar w3t €

B uw AE fadwm < s w graen @1 fers @ R e yea a9 # fafe wfrem, 9@
e T | W@ S wHA ©

€ =afs %1 sy e o fF fafie v =1 o5 #

(D) ¥ 8w T

In personality as well as intelligence heredity plays

{A) anominal role (B) a great role

(C) unpredictable role (D)  fascinating role.

e T afg A S

(A) AT S offhe B wewyYl qfiew §

(C) AR yjfre ? (D)  SThYa qfHHT © |

Which of the following is the storehouse of our unfulfilled desires ?

A Id (B) Ego

(C) Superego {D) 1d & Ego.

fo geaell w1 gfd 7T €, 3T e e § A #R-w R ?

A EFTH B) 3EH

C) W aEq (D) M U EH |

TV KA
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20.

21.

22,

23.

24.

® [2]

Defence mechanism helps us a lot in dealing with

(A)  violence (B} stress

(C) fatigue (D) strangers.

&7 R 9gT HEEa F §

(a) féw @ fgea g (B) <a@ W fqeR I

) uFm Qe H (D) Ferfadl 4 A #

Which of the following will serve as a most satisfying defenice mechanism for the
physically handicapped individual ?

(A) Identification (B) Rationalization

{(C) Fantasy (D)  None of these.

TR frafaa a =afs & foe f= @ $9-49 gfe & & 3 g8 whdwees 3o ?
(&) ARRHH B) feewiw

€ wfewern (D) ¥ A FE T |

Children’'s Apperception Test was designed for children between ages 3 and 10. The
CAT cards substitute

(A)  non-living objects for living objects (B}  animals for people
(C) females for males D) children for adults.

TEAE JETEY T 398 W 10 99 F1 G F Ferhi & (a0 S TR |39 wham § wiE |
wfaeentaa fFa ™ &

(A) weiy aedll F WA R g gl F1 (B) SN & BE W A A
(C) TE§ & TH W Higenst w (D) 9% % WM W Fewl $l |

In order to nurture creativity, a teacher should take help of which of the following
methods ?

(A) Brainstorming (B) Lecture method

(C)  Audio-visual aids (D)  All of these.

goreiterdr & e 3 fon we syeaves it e /A foew fafy 1 wera & =l 2
(&) ¥ wififn / fo=mE B) = fafy

C) g¥a-99 Tt D)  H A9 |

Which of the following statements is incorrect ?

(A)  Need is not a physiological stage of deprivation
(B) Drive is a psychological consequence of a need
{C] Need and drive are parallel but not identical

(D) Instincts are innate biological force.

N
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fddsh- T Fr gt =i § ?
(A)  STOREAHAT SO F VNNE o TR T
(B] A=HIG SAETEHA F AAEATE IO §
(C) ETTHAI Td T<H1E G4 2] §, afceh FAMNR §
D) evgfear s Sfaw a0 € |

25. Right to Education Act, 2009 specifies the minimum number of working hours per
week for the teacher as

(A)  forty hours (B  forty-five hours
(C) fifty hours (D) fifty-five hours.
e =1 stferem sifafem, 2009 7 wF stearvs & fou =m w0 =2 wfa e fuifa 5 ma €
() =T He (B) Harefw we
() TEM e ' (D) 9=9HS |

26. Right to Education Act, 2009 states that a teacher shall perform which of the following
duties ?

(A) Maintain regularity and punctuality in attending school
(B) Conduct & complete the curriculum
(C) Complete entire curriculum in a specified time
(D) All of these.
e &1 s stfufam, 2009 ¥ ©F srvamds &1 7= ° 4 9 Sfaea $ Q@ &1 7 2
(A foammg ¥ frafid w93 g9g ® sufed €9 8
(B) UISUHH HI WA F QW A TRM
(€ wwgoi growwn %t Ml w9 o g F g
(D) T AW |
27. National Curriculum Framework, 2005 suggests some activities to promote peace
education. Which one of the following is enlisted in the curriculum framework ?

(A) Organise programmes to promote an attitude of respect and responsibility
towards women

(Bl Teach moral education

(C) Teach peace education as a separate subject

(D) Integrate peace education in the curriculum,

P TETHhA FOE@, 2005 W Wi e F sgren 39 F o 3 feaei ot sy wi T §

TewEd FqwE A Fe F 1 e gees R g 2

W wEE ¥ T SR Td R g i 0 & G A S e s

(B) +faw foren & we™ WA

(©) wf= foen =t v ovem faug & €9 ¥ wg@ w1

(D) wf= fren =1 wEmRn A whwfen fHa 9@

LT | P.T.0.
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28. National Curriculum Framework, 2005 talks of major shifts from

A
(B)
(€}
(D)

knowledge as given and fixed as it evolves and is created
educational focus to disciplinary focus
learner centric to teacher centric

none of these,

TS WIeTEdl 1 T 9@, 2005 § S B ©

A)
(B)
€)
(D)

TH R # 3 o e & @ 9w e D 21 9 3Ee W o #
Hfegr F5 A @ FR e W

fereneff sfga & 1o Fim = AR

T8 ¥ HIE T |

29. 'The objective of action research is to

(A)  gain new knowledge

(B) develop the science of behaviour in educational situations
[C) modify the educational practices in school and classroom
(D) all of these.

TraTTs ST %1 3T 2

() TEE IH &7 @S

B) e dfifeafodl ¥ =eEr fen = fawm

(C) forner aun wen 1 Hftrw Frd yoned! § GUR @

(D) T AT

30. In the National Curriculum Framework, 2005 under the heading ‘Examination Reforms’
which of the following reforms has been suggested ?

(A)
(B)
{C)
(D)

Open book exams
Continuous and comprehensive evaluation
Group work evaluation

All of these.

e UrETEal waE@, 2005 F i ol gurl’ # e f @ e gun ) geme i g 2
(A) el THF qie (B) Ha/ ea @ SAuE geaied

{C)

fEF w1 i D) T YT

THTNERATI0E
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31.

32.

33.

34.

35.

36.

far=t

WS w9 ¥ S @l
A F \e § H el st |

R
cicxcell

J&: + =-BMEl

& + BT |

HY
T |

Qvus - I
I - 1
=t

FEEHFA B0UF T |
Tt weA st € )

I vl O T/ § 2

A T (B)

c o (D)

fra o 8§ ‘' TR ® ?

(A  F (B)

© 3 (D)

7w =) ' sgeen’ S8 Ja 8 ?

() TG A I AT | (B)

(C) T F WY A Tt =i (D)

form ooz & ‘g’ § 2

()  feyfd (B)

(C et (D)

‘gereoma’ 1 |iu-fawse g

(A)  9%: + B (B)

(C) 3&q + B (D)

‘g’ W w1 dEd T A

A (B)

(€ 3ig (D)
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37, fauim o1 =1 =ity w0 9 U= Y wad §

(A& wEigErE e B) foeim w=

(C) HANEF = D) T IR |
38. ‘Fui’ W w1 atd T < @

() B) T

(C) wnfa D) &R )
39. & Y= ‘HAA F1 AT TR/ ?

(A S B) HgS

(© wAfEs D) A |
40. ‘foge 97 9 wF @l W 8 F e v Em

A = B) wwH

€ == (D) T |
41, @ = O A

(A)  ared yEe BT g (B) & yehe ol ¥

€ ==d yahe g D) fafes wd ywe TR |
42, ‘vmEETEE W% AT I 8

(&)  Tg-usft oy ® TN e

© femd anfe (D)  3MyEY a7 |
43, ‘N FE Taed UET F B o’ H g ®

(&) e (B)  Had

© §Ed D) '/
44, 'TART F v ¢ TE o' e ¥ i W W owgw g

w = B R

(€C) A= (D) 3 |
I
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45. ‘€9 gred oo % wae S 9ie 3H 9 A e §

(&) TYEISIE B) T fa
(C) WEEIYE 34 (D) fawmafcEius == |
46. ‘F' I ‘F foe' Fo s S g ¥ ?
(A  UHEA HEH (B) Y ®H&H
(C) I HRF (D) TeEIYT FRF |
47, ‘Sewa’ S ' favg’ faus sim € 2
(A) ST B) =
© = o @
48. 'dguet Y wF A H 49 ok o’ — 39 a9 F 3tva §
A TR B) dgu
) e | D) 9
49, ; foug feg w19 &
() vy fawm B fam
€ ey fawm (D) BHTE |
50. TR FI TR T FA F e fFa fm fg s wm sm & 7
(@) foarm g B T
€ wEF D) 9 f&@mm
51. 'IFE H M I’ & U Iy ©
(&)  FEdl T H Y g (B)  TRTHI-TTAT U Al
(€) FEm T A (D) T W @

52. '=mun SOl HEEl # oad €

(A) T T B TSI EHH
(C) = v (D) Al # St A
53. ‘3O T1Y Wy oo ®
(&)  HAHHT FA (B) 3T 1Y TG B §
C FHFYIFH I IS e@ e (D) 30 Y ¥ TH FEA |
LLHLER ORI
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54, 'H A wE G IHAN §, T T & A A’ F fw sge €
(A =SR-SR AT B Ay
()  F-S H T (D) S FrETe 38 |y
55. U= &1 YA FE s ¥ ?
(a) TE9A () (B) HHER 93X
(C) &g D) ¥ |+ 7T |
56. ‘frfaer = 1 SEwT A @
(A) WEEA FH A FEE B) THF @ Aemit
€y fHior = wEr D) T 9+ wM |
57. Tt Frie@ g ©F WY 3w Al B IS T ool TEEE v, FI9 A TR Feer §
@A) U ® faamm
() aferg=e (D) 3MEF
WA : W el (58 - 60 ) F fou frm meriw <1 war @ v oW R g e vl % s T
FHT HT R GIW WAE SO § | FF Haw A AR TG F E AW TR A, qiew qha
1 off e wTar & | TRt e g & gafa afe g4 Eeft ot 9w 3ud AW F 94t et & wum 2,
N 39 feA-va oAt & e A fd! Seh it afg st et ff wew <A Sl 9g % w9H g,
w1 34 fria 39 @ iR ISR STen |
58. TH TEIW F WWEH T
(A FET H e B) =St d@ifa
) Hf (D) FATTE |
59. ‘HEm’ w1 a3y ¥
(A)  FIA WA (B) e & Wil
(C) i & wedt (D) O gl |
60. TH TEIW W HET WA ¥
(&) Enfa = Hed (B) a1 e
€ Hify o wgfe (D) =Afd |
T
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SECTION - II
LANGUAGE 1
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

31. Which one of the following words is a verb ?
(A)  Sympathy (B  Sympathise
(C) Sympathetic (D)  Sympathiser.
32. Fill in an appropriate determiner :

.............................. first item in today's programme s a song,

(&) The B A
(€) Any (D) Some.
33. Supply the correct form of the verb in the following sentence :
She .....coiviviiiininnnn, a new dress last week.
(Al  has bought (B)  has been buying
(C) buys (D) bought,
34. Which one of the following sentences has the correct verb formm ?
(A) They already seen the film (B)  They already saw the film
(C) They will already see the film (D}  They have already seen the film.

35. May I enter your office ?

In the above sentence ‘may’ has the meaning of

(A)  permission (B)  possibility
(C) probability (D) order.
36. To express ‘necessity’ we use the modal
(A]  may B) must
(C) can (D)  might.
37. Complete the phrasal verb in the following sentence :
[ usually go to bed early and also get ..........covvnnnen, early.
(A)  out (B) off
() up (D) into.
38. Which one of the following options will complete the phrasal verb in the following
sentence ?
The train slowed ........ooeecivnennnn. and finally stopped.
(A)  up (B) over
(C) about (D) down.

TR0 201] | p.T.0.
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39.

40.

41.

42.

43.

44,

45.

16 [Aa]

Pick out the phrasal verb which means ‘to take care of" :
{A)  run after (B) look after
(C} run into (D) look for.

Complete the phrasal verb in the following sentence :

The tourist guide pointed .................c.oo the most important buildings.
(A)  in (B) out
(C) off D) on.

Which one of the following phrasal verbs means ‘to stop doing an activity or a job' ?
()  take up (B)]  rundown

(C) give up (D) look for.

Which one of the options will complete the phrasal verb in the following sentence ?

I'had to fill .......coveevvmnnnnnnnnnn. three forms to get my driving licence.
(A)  up (B) into
(C) down (D)  over.

The passive voice of ‘We make butter from milk’ is

(A) Butter is being made from milk

(B) Butter has been made from milk

(C) Butter was made from milk

(D) Butter is made from milk.

Which is the correct passive voice of the following sentence ?

They have painted the door.

(A)  The door was painted (B) The door has been painted
(C) The door is painted (D) The door be painted.
My sister said, “I am enjoying my work."

In Reported Speech the above sentence will be

My sister said that

(A)  she was enjoying her work

(B) I was enjoying my work

(C) she was enjoying my work

(D) 1 have been enjoying my work.
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Rahul said to Veena, "Please return my books early."
In Reported Speech the above sentence will be
Rahul requested Veena to

(A) return her books early (B) return my books early

(C} return his books early (D) return their books early.
Which one of the options has the same meaning as the following sentence ?
The Taj Mahal is the most beautiful building in India.

(A) India has many beautiful buildings

(B) The Taj Mahal is more beautiful than any other building in India

(C) India has only one beautiful building, the Tal Mahal

(D) The Taj Mahal is a beautiful building.

Pick out the correct ‘wh’ question :

(4) How much money do you want ? (B) How much do you want money ?
(C} How much do you money want ? (D) How much money you want ?

Which one of the following words is similar in meaning to ‘purchase’ ?

(A) Buy (B) Sell

(C) Receive (D) Supply.
The word ‘inspection’ is similar in meaning to

(A)  interview (B) exercise
(C) getup (D)  check up.
The opposite of the word 'support’ is

(A)  help (B)  argue

(C) oppose (D)  return.

Which word is opposite in meaning to ‘interesting’ ?

{A) confusing (B) boring
(C) contrasting (D)  pleasing.
Choose the word with the correct spelling :

(A} fenancial (B) financiel
(C) finencial (D) financial.

Pick out the word which has been correctly spelt :
(A] situetion {B) setuation

(C) situation (D) situasion.
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Note : Please read the following stanza to answer Question Nos. 55 and 56 :
“The Jamuna's waters rush by so quickly,
The shadows of evening gather so thickly,
Like black birds in the sky ...

O ! If the storm breaks, what will betide me ?
Safe from the lightning where shall [ hide me ?
Unless Thou succour my footsteps and guide me.
Ram re Ram ! [ shall die.”

“Like black birds" in the above lines in as example of

{A) metaphor (B) simile

(C)  hyperbole (D) pun.

We can find an example of alliteration in the above lines in

(A}  Ram re Ram (Bl  1shall die

(C) The Jamuna's waters (D)  The shadows of evening.
An elegy is a

(A) sad poem, usually about someone’s death

(B) love poem

(C) prayer

(D) poem about someone's marriage.

The phonetic symbol for the first sound ( underlined ) in the word ‘ship’ is
o /7 B) /sh/

) /ch/ D/t

Direction for Question Nos. 59-60 : Pick out the correct phonetic transcription of the
following words :

Pick

{A)  /pllk/ B /piik/
© /plk / D)/ plkk /.
Try

@/l B)  /tral/
) striz/ (D) /trae/.
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SECTION - III
LANGUAGE II
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Which one of the following words is a noun ?

(A) interesting : (B) develop
(C) teacher (D) brave.
Fill in the appropriate determiner :

I have not got e, money in my bank account,
(A any B a

(C) a few : D) few,

Supply the correct form of the verb ‘remember’ in the following sentence :

I, your name.
(A) am remembering (B) remember
(C) was remembering (D) have remember,

Pick out the correct verb form :

She was walking along the road when she ...............oeeinie him.
(A) met (B}  have met
(C) was meeting (D) meet.

Supply a modal which expresses ability :

All of them ......coocvvvvvnnenn. speak three languages.
(Al may B  wil
(C) must (D) can.

We must come back by six.

‘Must' in the above sentence expresses

(A)  possibility (B) advice

(C) desire (D)  necessity.

Complete the phrasal verb in the following sentence ;

You may try hard to hide the truth, but one day the truth will come ............ .
A) in (B) over '

(A out (D) at.
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Complete the phrasal verb in the following sentence :

People have been complaining about the prices going .................. everyday.
Al up (B) through
(C) after (D} in

Complete the phrasal verb in the following sentence :

Many parents were at the railway station to see .................. their children.
Al away (B) at
(C} off (D)  after.

Which one of the following phrasal verbs means ‘to remove’ ?
(A)  puton (B) take off
(C) putup (D)  get off.
We decided to put off our visit to Kashmir till October.

‘Put off in the above sentence means

(A)  arrange (B) plan

(C) reject (D)  postpone.
There isn't enough money, so we must cut down expenses.
‘Cut down’ in the above sentence means

(A) reduce in size or amount (B) stop

{C) increase in size or amount (D) revise.
They are repairing the bridge.

The passive voice of the above sentence will be

(A)  The bridge is repaired (B}  The bridge are being repaired

(C) The bridge is being repaired (D)  The bridge has being repaired.

Pick out the correct passive voice of the following sentence :
They carried the injured player off the field.

(A)  Off the field was carried by the injured player

(B) The injured player was carried off the field by them
(C) The injured player be carried off the field

(D} The injured player has been carried off the field.
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He said, "Kavita, when is the next train 7"
The above sentence in Reported Speech will be
(A) He asked Kavita that when the next train was
(B) He asked to Kavita when was the next train
(C) He asked to Kavita that when is the next train
(D) He asked Kavita when the next train was.
The doctor said to me, “Do not swim in cold water.”
In Reported Speech the above sentence will be
The doctor advised me
(A)  do not swimn in cold water (B) that do not swim in cold water
(C)  not to swim in cold water (D} to not swim in cold water.
Pick out the sentence which has the same meaning as the following sentence :
No person in my village is as wise as my uncle,
(A} My uncle is the wisest person in my village.
(B) There is no wise person in my village.
(C) My uncle is the only wise person in my village,
(D) My uncle is wiser than some people in my village.
Pick out the appropriate question tag for the following statement :
You didn't see him.

(A) didn'tyou ? (B) did you ?
(C) isn'tit? (D) aren't you ?
The word ‘advocate’ is similar in meaning to

(A) adviser (B) scholar

(C) supporter (D) lawyer.
Which one of the following words is similar in meaning to the word ‘precise’ ?
(A  brief (B) exact

(C) precious {D)  expensive.
The opposite of the word ‘familiar’ is

(A) related to a family {B)  personal

{C) strange (D) unfriendly,
The word ‘creative’ is opposite in meaning to

{A)  destructive (B)  positive

(C) artistic D) pessimistic.
Pick out the word which has been correctly spelt :

(A)  obidient (B)  obediant

{C) obedient {D)  obidiant,
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84. Which one of the following words has been correctly spelt ?
(A) gramar (B)  grammar
(C) grammer (D) gramer.
Note : Read the following stanza and answer Question Nos. 85 and 86 :
“Silence hath bound thee with her fatal chain ;
Neglected, mute and desolate art thou,

Like ruined monument on desert plain :

May be by mortal wakened once again,
Harp of my country, let me strike the strain !"

85, The line 'Like ruined monument on desert plain’ is an example of

(A}  simile (B) metaphor
(C) elegy (D) hyperbole.
86. Which one of the following phrases gives us an example of alliteration ?
(A)  harp of my country B) strike the strain
(C)  with her fatal chain D) desolate art thou.

87. A sonnet usually contains
(A) eight lines (B) six lines
[C) twelve lines D) fourteen lines.

Direction for Question Nos. 88-90 : Pick out the correct phonetic transcription of the
following words :

88. Like
(&) /lalk/ |) /lk/
€ Naik/ D) /lulk/
89. Tree
@Ay /trl/ B  /tre/
/tri/ D) /trel/
90. These
A /ols/ B  /Biiz/
@ /elz/ D) Joirz/.
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SECTION - IV /@US - IV
In this Section, there are 2 sub-sections ie. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.
The candidate has to choose either IV(a) Mathematics and Science or IV(b) Social Studies
as selected in the Online Application Form and answer all the 60 questions.

36 @8 ¥ 3 IyEvs A Iv(a) wfora amn fEm @ v(b) s s € | S syanel F aEw
W 60 Fgfaweda W9 § |
Titeeft st 1v(a) niora qer fagm reat V(D) Arfaes sreaas fome =9 SIFeEA aTees v | faa
T ¥ @ fordl woh SU@YE HI g1 & uE 9ot 60T FIW AR )
SECTION - IV (a) / @UE - IV (a)

MATHEMATICS AND SCIENCE / 7o ae faqm
There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

WaEE ¥ g 60 ¥ | o anafif= 3 g foug =1 =9 v & € oot w9 e aifard #
2
91. The simplified forms of 22° , (22)2% and (22%)? are

W 26 4% 162 B 4928 82
© 2% 28 82 D) 162 44 2186,
- 222 9122 92 )2
22% (22)2%7m (227 ) 'wmwe e ?
A 2'644 162 B 44 28 82
© 26,28 82 D) 162 44 216
92. The factors of expression {x2—2xy+y2]-zgare
@ (x+y-2z)(x+y+z) B (x-y-z)lx-y+z)
€C) (x~y-z)(x+y+2z) D (x-y-z)l(x-y-2z).
=5F [ x? - 2xy + y? ) - 22% TorrErs ¥
A (x+y-z)(x+y+z) B (x-y-2)lx-y+z)
) (x-y-z)(x+y+2z) D) (x-y-z)(x-y-2z).
193, If ax?+ bx+ ¢ =0 is an identity in x, then

_bs\b2Z- _
A x = 2% Qba 4ac B ¢=0, x=0, x=7b
€ e¢=0, X=_?b, x=% (D) a=0,b=0,c=0.
e ax? + bx+ ¢ =0, x¥ & gl g, @

_ (p2 -
@A x = 2% \zba dac B c¢=0 x=0, x=7b
() c=0,x=_ab-, x=g M a=0,b=0,¢c=0.

94. The numerator of a fraction is less by 2 than its denominator. If we subtract 2 from

the numerator and add 2 te the denominator, then the new fraction obtained is % )

What is the original fraction ?

7 3 5 1
@ g ® @ D 5.

whime T sy, w8 290 g |mmwﬁ@r2mﬁmaﬁaﬁ{aﬁ o wre fear wmrd
A o TR 9T S o 58, A i o ¥

7 3 5 1
® ® © = © ;.

|I|ll|||||||||||||||1|1 201 ] [ P.T.0.
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95. If we divide x*-y* by x- y, then the quotient and remainder are respectively

A x3+x?2y+xy?+yd. 0 B x¥-x?y+xy?+yd, 0

© x*+yd x?y+ay? D x*-yd x%y-xy2

g x* - y? F x- y¥ W A R R e FE: T

A x3+x2y+xy?+yd, 0 B x%-x%y+xy?2+y3.0

@ x3+yd x%2y+xy? D x%-y3 x2y-xy2
96. If the arithmetic mean and geometric mean of two numbers a and b are equal then

A a+b=ab (B) a+b=vab

(€ Ya+b = ab (D) a=bh

Ifs forel < Gemsll a9 b AR A 991 O S SOeR €, q

@& a+bs=ab B a+b=vVab

[C) Va+b = ab (D) a=bh.

97. What will be the compound interest of Rs. 48,000, at the rate of 10% for a period of
1 %years. if the rate of interest is calculated on the basis of six months ?

(A}  Rs. 6,566 (B) Rs. 7,566
(C) Rs. 8,566 D) Rs. 7.577.
48,000 To 1 10% H T/, 1 ;o4 &1 TFglg =« F1 2, AR =9 F R B: WM & feww
A 2
(A} 6.566 To (B) 7.566%¢
(C) 8,566%0 (D) 7,577%0 |

98. A shopkeeper marks the price of an article of original cost Rs. 100, after increasing it
by 10%. He then sells it by giving a discount of 10% to the customer. The price at
which he sold the article is
(A)  Rs. 100 (B) Rs. 101
(C} Rs. 99 (0]  None of these.
TF THER fodt a5 #1 759, foame arafas qe7 100 Fo &, 10% g 3ifea Fa ¢ 1 5%
9 % W 10% FHIVH S WEF 1 =0 §, 9 36 g8 g fhad To § It ?
(A) 100 To (B} 101 %o
() 99%0 (D) 98 | =g 7=l |

99. Which of the following statements is incorrect ?
(A)  If the four quantities @, b, ¢, d are proportional then ax d=b x c.
(BY If @, b, ¢, d are proportional then ac = bd
(C) The inverse proportion of proportion a: bisb: a
(D) If three quantities a, b, ¢ are in geometric progression, then b? = ac,
et & A F9-w T T | 7
(A) IRl a. b, ¢, dTAAEE €, W axd=bxc
B 9T a b, c. dFEEEE €, @ ac= bd

(C) F9YE a: b HHUHIT T b: a
(D) AETFE @ b, c IR ANFAE D b2 = ac.

T
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The number of members of an institution is 2500. If the number of members in first
year increases by 10% and in the second year decreases by 10%, then after two years
what is the increase or decrease in the number of members ?

(A) Neither decrease nor increase (B) Increase of 25 members

(C) Decrease of 25 members (D)  None of these.

et den & el &1 ¥em 25008 | IfG 9% W wee 9 H 10% 9%l € aw g ad # 10%
w2 I &, A 4 w6l ¥ A e g § TR gte @ FH e ?

&) A gg A wH B 25 & gfg

C) 259cE & wH (D) TW @ wE T |

Two cars X and Y are moving from a point A to the point B which are 50 metres apart.

If the speed of X is 10 m/sec and that of Y is 25 m/sec then the time taken by them
to reach to the point B are respectively

(A} 2 sec, 5 sec (B) 500 sec, 750 sec

(C) 5 sec, 2 sec (D) ;; sec, % sec.

3 fogali Aven BfoTs ot &t gt 50T &, § & x99 vt € 1 afs x& ufd 10 WA
d Yy M 25T, @ ST I F T AT TS B 9% qEe A A oTen TEa HEe: g

A 28, 58 (B) 5009, 750%

() 5% 28 @ +8 3

Divide Rs. 13,260 between Ram and Shyam in such a way that if Ram gets Rs. 11
then Shyam gets Rs. 15. Then Ram and Shyam will get respectively

(A} Rs. 7.650. Rs. 5,610 (B} Rs. 5,610, Rs. 7,650

(C) Rs. 5,100, Rs. 8,160 (D) Rs. 8,160, Rs. 5,100.

13,260 Fo HI T 3T vam ¥ 30 ¥R favfon F fF ak = 117 it @ w@m =1 15%0

79 YR & favrem ¥ ww it wm & www: fiei

Ay 7,650%0, 5610%0 (B) 5,610 %o, 7,650 %o

(C) 5,100%0, 8,160%0 (D) 8,160%0, 5,100%0 |

Which of the following is incorrect ?

(A) The point of intersection of medians of a triangle is called centroid

(B) The point of intersection of perpendiculars drawn from the vertices of a triangle
on the opposite sides is called orthocentre

(C)  All the three bisectors of angles of a triangle intersect at one point

(D) Median of a side of a triangle is perpendicular bisector of that side.

1 # | SiF-w1 Fo9 s ¥ 2

(A Tt fre =1 aiferel & vk o $5F Fean ¢

B) el fave § ¥itd & WA arelt o W el e A= # gfass] fag @ F e ¢

€ T&eh P ® o ol & aufgursis & fag ) ferd € |

D) Tt fom F yon ) i, 39 91 W o gt § w6 S9 wRigsnfag w E

IRTHERTLHA | PTO.

https://www.pygonline.com


https://www.pyqonline.com/

L-2

70

104. Which of the following is not the condition of congruency of two triangles ?

(A) The three sides of a triangle are equal to the three sides of the other triangle
respectively.
(B)] Two sides and the angle included between those sides of one triangle are equal
to two sides and the angle included between them of the other triangle.
(C) Two angles and the side between them of one triangle are equal to two angles
and the side between them of the other triangle correspondingly.
(D)  All the three angles of one triangle are equal to the three angles of other triangle.
=1/ & -1 T & ol & Fetremm & e R € 2
(A)  T& e 1 dE Jemd e g e w6t T el & s g
B) T S F1 A Yol T I S A, g e 9 E el i e 9
TR B
(C) wF e & @ F0 o 3% ff9 F e, g Y9 F A I ok sF R e F
e
(D) w& faye & 1 Fio, g Fys & @ ol F SR
105. If each angle of a quadrilateral is less than 180°, then it is called
(A) concave (B) cONnvex
(€) parallelogram (D)  trapezium.
fordt =ge =1 v Fw afz 180° ¥ 9 7, @ 3W IS FI wed §
(A)  Hee (B) 39
(©) W (D) wIEgH |
106. Alternate angles in the given figure, where two parallel lines are cut by a transversal,
are
1 ;.’ 2
3/a
5/6
7 / 8
A (1,8)and (2, 7) B) (1,2)and (7, 8)
€) (2.6)and(1,5) (D) (1,5)and (7, 3).
o2 g fom o < o YEed it Fedl O e W & WY 99 g uE S
1 ./ 2
3/ 4
5 / 6
T/’ 8
@A (1.8) a4 (2, 7) B (1,2) 7w (7. 8)
© (2.6) @M (1,5) O (1,5)d= (7.3).

TTWAI]
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107. In the following figure, the value of angle o is ( here O is the centre of the circle )

(A)
()

D

A

60°
A B
kg S
60° (B} 20°
30° (D) 40°,

At iR o a" e (98 OFFFFEE )

A
(C)

60°
30° (D) 40°.

108. Which of the {ollowing statements is incorrect ?

(A)

(B)

(C)

(D)

The angle subtended by a chord of a circle at the centre is equal to the angle
subtended by the chord at any point of the circumference of a circle.

The lengths of the chords situated at equal distance from the centre of a circle
are equal.

The angles subtended by a chord at different points on the circumference of a
circle are equal.

The perpendicular drawn from the centre of a circle on a chord, bisects the
chord.

fAd @ sN-w s oma € ?

(A)

B
()
(D)

frdll 99 # & Sie1 g = W T T w0 I S g iy F oo | m
S ™ F F GO T §

el 99 4 % ] aUer g0 W feum Sfranel F1 ovems ser Bk §
foredt 99§ TF = g vy & e e fagsl W S T Hiv SR 2§
et ga o S ° U Sa W S 191 o S| fi gafpata s €

NIRRT | PT.O.
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Given UZ =5 em, XU = 4 cm, are sides of the rectangle XYZU.
The area of parallelogram KLZU is

Y
X K L
U VA
Al 20 cm (B) 10 sq.cm
(C) 20¥2cm (D) 20 sq.cm.

AT XYZUS o1 UZ = SR a1 XU = 499 ¢,
ol warR 9q4e KLZU % §9ed §

X K Y L

U zZ
@& 209 B) 109 @
© 20V2@¥d D) 209 &t |
Hero's formula for the area of a triangle with sides of lengths «, b, c and s =%}HC ,
is
A  abc B +vs(s-a)ls-b)(s-c)
© is-a)(s-b)(s-c} (D) %x Base x Height.
el et 5 4t ¥ fere Rt 9T o, b, ¢ B, TR WS (W 5= L2
@  abe B Vs(s-alls-b)(s-c)
) ~N(s-a)(s-b)(s-c) (D) %xﬁﬂﬁx%ﬂﬁ{l

A triangle and a parallelogram have the same base and the same area. If the sides of
the triangle are 26 cm, 28 cm and 30 cm and parallelogram stands on the base
28 cm, the height of the parallelogram is

&) 12 cm : (B} 16 cm

(C)] 14 cm (D) 6 cm.

& e iR geeR g @1 YR e dewa ' § ) afe fags &1 g ween 26 @9,
28 At 7o 30 T € iR TR =Y @ AuR 28 WA AEl o= ¥, A "R agds & S
Bt

(A 129d B 164

© 149 (D) 6@ )

LIV
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In general a book is a solid figure, known as
(A parallelogram (B) cube
(C) rectangle (D)  cuboid.
YR U forae & 3 oehfa € formem 7w €
(@)  FERR T B A
(C) mad (D) =19 |

Ram wants to build up a solid cube of side 15 cm. How many cubical blocks of side
5 cm will be required for it ?

@ 9 (B) 18

Q27 (D) 30.

UM T 39 O I =ea ¢ et e 15 99 g | g6 faw 59 e 9t fea eeeR
THS| HI AFTvEHA gt ?

A 9 (B) 18

c 27 (D)  30.

The volume and curved surface area of a right circular cylinder are
(A 2nrrh, nr2h (B) nr?h, 2nrh

(€ gnr2h, 2nrh (D) nr2h. nrh.

T G9HUIE JE T HT AT & 95 B F ATFA ¢

(A 2nrh, nr2h B) nwr?h, 2nrh

© Lnmr?h, 2nrh (D) nr2h, nrh

3
The value of r is given as follows :

3:14159265358979323846264307
The most and the least frequently occurring digits after the decimal point are
respectively

A 3.7 B 7.3
cy 3,0 D) 4, 1.
S AF AR e gan ® e

3:14159265358979323846264307
TIHEE & 9% FEE R SR gEW FW 91 o A 3 Hwaw: §
A 3.7 B 7,3
C} 3,0 D) 4, 1.
The graphical representation of data in which data is shown by rectangles drawn on
X-axis as base, which are of equal width and the space left between any two
rectangles is same, is called
(A) Histogram (B) Frequency polygon
(C} Bar graph (D)  None of these.
AiFSI S @A g Ve FH Ht g7 fafy foad oies 39 omadl gr wefvla fa v €
foem anur X3y 7, o R SR 9sE & 2 a0 Q Fdl & &ta d B8l T TE S
%, Feam ¢
) smates ( femm ) (B) SRR qgH
(C) w9 uw D) 7H | ®E T |

T 301 | PTO.
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117. The values of marks \HJ and I/m are

A) 5,5 (B) 5, not defined
(@ not defined, 5 | D) 3. 3.

ft [N ® | woamt

A 5.5 (B) 5, wftsyieg =l §
() Ry, 5 D) 3. 3.

118. If the data to be represented graphically on Y-axis are in lacs as 1.5, 2-1, 2-7 and 3-3
then which of the following is a suitable scale of choice for one unit ?
(A) Rs. 50 thousands (B) Rs. 30 thousands
(C) Rs. 40 thousands (D) Rs. 60 thousands.
Ifg Y-319 W MEE &Y 9 we¥ia Y 99 oot s @@ § 1.5, 2-1, 2.7 89 3-.3%, @ @
THR H WA FA F fAQ I9gF A9 (TR ) S F e ?
() SOTR Te (B) 30 T™M %  [C) 40TV To (D) GOTR To |
119. In the given circular graph, the decreasing order of the expenditure incurred on
various heads is

Clothes

House Rent
(A} Education, Savings, Clothes, House rent, Food
(B) Food, House rent, Clothes, Savings, Education
(C) Food, House rent, Education, Clothes, Savings
(D) House rent, Food, Education, Clothes, Savings.

e g oz o fafiss 9 W e 91 Sen =Y, FElE FH A

@A) o, 59w, $98, gHE fHOEn @ (B) @I, w&HM T, +us, w=q, e
(C) @, W foRgran, T, #e, 9= (D) wm T, @, e, F:9g, =6 |

UL
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120, The lengths of 35 leaves of a plant are measured correct to one milllmetre, and the

12].

122,

123.

obtained data is represented in the following table :

Length ( in mm ) Number of leaves

127 - 135 5

136 - 144 9

145 - 153 12

154 - 162 5

163 - 171 4
Is it correct to conclude that maximum number of leaves are
(A) 153 mm long (B) 145 mm long
(€} 149 mm long (D) none of these.
! dig &t 35 qfedl ot o ¥ Siwe U T o wet w9 A e wifon | €

s ( fdr o ) faal sl AT

127 - 135 5

136 - 144 9

145 - 153 12

154 — 162 5

163 - 171 4
¥ 9% Fe 9 ¢ sifveivg: ofl
A 153 Tt el (B) 145 Tt ot
(€ 149 o o D) T | FE T
In a typical plant cell the position of nucleus is
(a) Central : (B) Peripheral
(C)] Basal (D) anywhere.
T Yt ey Sifsem ¥ e o ffa €
() FFA (B) uRetm
(C) &uRE D) =8l 41 |
Which of the following cell organelles is known as powerhouse of the cell ?
()  Nucleus (B) Nucleolus
(C) Golgi body (D)  Mitochondria.
fe & A ffw =iferwin =t Hifas & Ao Fer @ § 2
A FEF (B) fzm
(C) Tiesl & (D) WRHIvEA |
The longest stage of mitosis is
(A)  Prophase (B)  Metaphase
(C)]  Anaphase (D) Telophase.
T fovrer § Ted ol ween §
(A) W (B  HeTHd
(C) THRa (D) Frea |

[T
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124. Viral disease is

(A)  Polio (B]  Plague
(C) Cholera (D)  Typhoid.
EIRIGAEIECRUE
(A fer B) M
€ #en D) TERES |
125. Which of the following deficiencies in food causes night-blindness disease ?
(A) Protein (B) Fats
(C) Vitamin A (D)  Vitamin C.
e A A frami sR @ Wi I ® 2
(A WEH B
(€ Tfaafi= A (D) fa=fm .
126. The system affected by AIDS disease is
(A)  Digestive system (B) Respiratory system
(C) Central nervous system (D) Immune system,
TEH SArh d yufam g9 daren 9 #
(A)  9EA = (B) Yo@d A
C) &=ra af=ew a4 (D)  wfwen &= |

127. “To every action there is always an opposite and equal reaction.”
The statement is known as

(A) Newton's first law B) Newton's second law
(C) Newton's third law (D) none of these.
"o TR & wea fawia wd U w9 Wil g § ' 36 w6 $ed ©
(A A W weE fm B) =z @ fgdta fram
© =AW A fram (D) %= q K T |
128. The rate of deing work is known as
(A} Force (B) Motion
(C)] Power (D) Energy.
HW HE K T FEA
W wd B T
© wf® (D) F= |
129. Which method of heat transmission does not require any medium ?
(A) Radiation (B) Convection
(C) Conduction D) Diffusion.
Fun g F1 wA-9 fafy & mem 2t emavawa w1 S d 2
() Tafeo B) HeEA
(C) =TEHA (D) fawwo |
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130. With the increase of pressure, the boiling point of water

(A)] increases (B) decreases

(C) remains unchanged (D) none of these.

TH gig & WY Y F1 FEYAE

() W B =¥

() erRafia e & D) ¥ 4 FE W |
131, Property of sublimation is found in

(A)  sodium chloride (B) calcium chloride

(€) ammonium chloride (D)  magnesium chloride,

ST IO A §

(4) wifezm wREE A B) Fiem FEs §

Q) It FeRge o (D) HfrEaR FERES 7 |
132. Heat required to increase 1° Celsius temperature of one kilogram water is

(A) 1 calorie (B) 10 calorie

(C) 100 calorie (D) 1000 calorie.

T foheinmm o &1 o fetit Afewas a9 e & o aevge e Bt ®

@ 15w B 10 %R

(© 100 F&R (D) 1000 FaAT |
133. Image formed by a convex spherical lens is

(A)  imaginary and erect (B) real and erect

(C) imaginary and inverted (D)  real and inverted.

T I e giu § viafea s #

(&) 3T T e (B)  arsifas wd i

(€) ¥ & 3T (D) SFaf® T 3e |

134. For an incident ray of light, if mirror is rotated by an angle 8, then reflected ray will
rotate by an angle
@a 6 (B) 20
G 90° (D) 0O°.
Eq:namﬁawwaam Ifg o 9 HO /A e W @ quatda fFwo F gEE Fo

(A 6 (B) 28
{C) 90° (D) 0°.
135. A patient of hypermetropia is given spectacles of
(A) lens of zero capacity (Bl compound lens
[C) convex lens (D) concave lens.
egfie 2w & witer 9 v fean Wi
(A) T &EA R A B) fufm o =
(C) 3T | H (D)  3aTe o = |

MR 201 | PT.0.
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136.

137.

138.

139.

140.

141.

£

Frequency of ultrasound is

(A) <20 Hz (B) > 20 Hz and < 20,000 Hz
(C) < 20 Hz and > 20,000 Hz (D) > 20,000 Hz.

HTETHIRVE HT AgHA Bt &

(A < 20 Hz (B) > 20 Hz 99 < 20,000 Hz
() <20 Hzd9 > 20,000 Hz Oy > 20,000 Hz.

Pitch of sound depends on

(A)  frequency B)  wavelength

(C) velocity (D)  intensity.

e %7 a1l Fwa

@ g w (B) e ®

C) aMm (D) el W

The number of magnetic lines of force passing through a given area is known as
(A) Magnetic induction (B)  Magnetic intensity

(C) Magnetic flux (D) Magnetic moment.

@ T &7 Q [ I FEEE 99 [ FI e FEan ¢

(& FEwE W B) kA e

(€ T T (D) = Y |

A bulb [ 100 W, 200 V) is connected to a voltage of 160 V. The power dissipation is
A) 64 W (B) 100 W

c) 32w (D) 160 W.

W oo (100 W, 200 V )& TF 160 V aiczar & o1 Sirel 71 § | vife & s
A 64 W (B) 100 W

@ 32w {D) 160 W.

One kilowatt-hour is unit of

{A)  energy (B) power

(C) electric charge D electric current,

Tk fereirare-sier forter Ao & 2

A) = H B Wf® &0

(C) Fd TEY & (D) 3= U E

If E , be the peak e.m f. of alternating current, then root mean square e.rm.f. will be
w  +E, B E N2

(G E,/2 (D) E,/N2.

e wearat ur 1 e fae e Fo E 2, W o wen g fao dlo Fo g

@ E, B EN2

© E,/2 D E,/N2.

LT
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Detergent is a complex salt of
(A} Sodium B) Calcium
(C} Carbon (D)  Magnesium.
YIS wfee wav @
@ wfsm = (B) Hfevram =
C) wEE = (D) FEfEw # oo
Device used to send text and pictures is
(A) teleprinter B) telex
C) fax (D) none of these.
T2 W@ T S ¥ fau few I w1 v fan w2
) i B) oW
(© e D) wH A HE T )
Which of the following mixtures of gases are used for welding of metals ?
(A)  Oxygen + Hydrogen [B) Oxygen + Carbon dioxide
(C) Oxygen + Methane (D)  Oxygen + Acetylene.
urged @1 Afeen & forw g 4 @ o6 1 % fagw 1 Suam fsm s 2 2
() SRS + TG (B) TS + He TRIFRS
(C) sfiedior + fad (D) Aertor + Thafeed |
Symbol of Tungsten element is
A W B T
C) Te (D) Tm.
T T H HHARR
A W B T
[C) Te (D) Tm.
The gas responsible for global warming is
A H, B CO,
(C) NO, (D) SO,
forea s % fere foriier 7 &
A H, (B CO,
[} NO, D) S0,

The atomic number of a nucleus is equal to

[A) number of electrons + number of neutrons
(Bl number of neutrons + number of protons
[C) number of protons

(D) number of neutrons.

LT 201
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TferF W1 R S S g
(A) eIl FY W@ + <A W e
(B) =Yg = dEA + W e
(€ e = e
(D)  =Hi #i e |
If acid burn occurs in the laboratory then wash with plenty of water and before
putting vaseline which of the following first-aids should be performed ?

(A) Wash with sodium bicarbonate solution and again with water
{B) Wash with 1% acetic acid or lemon juice

(C} Clean with silver nitrate

(D)  Put simple salt.

AT H e ¥ Se Wy urt /a9 =l aun Juey wm | gd fefafen F | wl-w
WefH$ ITER HE AT ?

(A Wifsaw FRFErE WA § €& I I | 9F
(B) 1% THifesw el o Hig & W 9 O

() fooeRr 522 | WE FE

(D) WYURY THE T

A place where small animals like termites, fly, earthworm etc. are cultured according
to their habits is called https://www.pyqonline.com

(A} Aquarium {B)  Museum

(C) Terrarium {D)  Forest.

9% T WEl DI W o4 — <19, waE!, $YU e 596 WY SER T o §, 39 Fed €
(A) - St (B) wTERE

() s D) & |

Which of the following statements is not correct ?

{A) Aims are directives in the educational programmes

{B)  Aims could not be achieved only by school programmes
{C) Objectives can achieve by school programmes

{D} Aims and objectives are same.

=1 4 | &9~ %y W& "I 7 ?

(a)  foan wrhen ° sva foen fadem w1 v wa ¥

B) oe faamrd wriEy gv Sivd WSt TEl H HHd

© a3ty feurerdt swwn g v fRa o T €

(D) 33 T W 399 HOA € |

AT AR LA
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SECTION - IV (b) / T@UT - IV (b)

SOCIAL STUDIES / QI Aeh e

There are 60 questons in all in this section. The candidates who have selected this subject

must answer all the questions.

WER 4 T 60WH ¢ 1 Fa ezl 3 3a fawg 91 9w e @ 3 ot v 0 o ©

91.

92.

93.

The main characteristic of the Indian society is

()  unity in diversity (B)  illiteracy

(C) self-sufficiency (D) regionalism.
WRArE T &y faea ¥

(A} I H T ® afoa

(C) TErEeET (D) WRfEE |
-Urbanization is the result of

(A)  educational development

(B) rural development

(C) migration of population from villages to cities

(D)  agricultural development.

TR e §

(&) A fawm w1 B wwi a0
(€) 7 QT F AR TS TG H (D) FW A Hw
Regionalism is the main cause of

(Al poverty (B)  social tensions
(C) unemployment (D)  globalisation.
TS qTH FR §

(4} ST @ s T &
©) U (D) SvdHTw & |

[ P.T.O.
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82 E
Apart from subject contents, a soclal study teacher should have knowledge of
(A} objectives of teaching (B) methods of teaching
(C) techniques of teaching (D)  all of these.
T 7e9 & HwETF H faug-a%g & W9-919 99 g1 9y
@ fasn F Ryd = B) oo fafii =
(€) Fagor qeAlw H: D) A
Which is not a cause of poverty in India ?
(&}  Unemployment (B) Rapid growth of population
(C) Education (D)  Large size of family.
W F Tt % o A - wRw e § 2
VI e B) e e 9fg
© foan (D) ¥&d 9ER |
Which Harappan building was considered unique in its built in the world by Sir John
Marshall ?
{A) The Great Bath (B)  Granary
(C) Assembly Hall (D)  Fort Palace.
fee FTwFRIA TaRa Y T ST Oeia A fava @ 1w sgym Fafe w2
(A)  ggq FMAr (B) IR
(©) | WA D) T HES |
"In India there is unity in diversity and diversity in unity.” Whose statement is this ?
(A) A.L. Basham {B) V. A. Smith
{C) Max Maller (D) Jawaharlal Nehru.
‘qa A TFa Y Ea R s Y € A R E 2
@} To Teo T =1 B) o To Ty ®
(C) aE TR H (D) oIS TT® F |
From which Indus site the evidence of Fire pit’ is found ?
(A) Harappa (B) Mohenjodaro
(C) Lothal (D)  Kalibanga.
fFrAidffadmumd ' smAge sae e ?
@A wE (B) wEASESy
() wiraa (D) =rEE |
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103.

83

What is the main source of information about Indo-Greek rulers ?

{A)  Travellers’ account (B) Colns

(C) Buddhist literature (D)  Jain lterature.

feme- AT Tl F AR AEHR w1 T we T E 2

() =fadi = g9 B) fa

(C) <z afee O Wl

Geeta is

(Al Veda (B) Independent Epic
(C) a part of Ramayana (D)  a part of Mahabharata.
T &

VI L B) @A e

(C) THIY & TF UM (D) HEFYEG & TFH 91T |
The famous trade centre of Far West during the Gupla period was

() Vidisa (B) Purushpur

(C) Ahichhatra (D) Paithan.

T8 F A g 9En § s A = a9

(ay fafEmm (B) TR

) sAfg=s™ D) e

The National emblem of India has been taken from

(A)  the pillar of Sanchi B) the pillar of Sarmath
(C)  the pillar of Allahabad (D)  the pillar of Lumbini.
qitd 1 WG fag fw ™ &

(A} THEmE (B) ™ 'Y 9

(C) TEEER W | D) i 'R

‘People did not lock their houses/’
About which ruler has Fa-hien written this ?

(A} Ramgupta (B) Chandraguptal
IC) Chandragupta Vikramaditya (D)  Samudragupta.
‘om el A A T e 4 )

wEEr J e wew & a # e foan @2

A T (B] ==

€ == fammfe (D) W |

TR
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104. The famous temples of Mahabalipuram were built during the reign of

{A) Pallavas (B) Cholas

(€] Chalukyas (D)  Kakatlyas.
TR & WaE wiet T s & e & e o 2

(a) Youd B I

(C) =g (D) A )

105. For the first time, in which period of Indian History was the registration of birth and
death of people introduced ?

(A)  The Age of Mahajanapadas (B)  The Gupta period
(C) The Kushan period (D)  The Mauryan period.
gy e o yeel! AR @l & 9= wd g F1 Yol R o e ¥ e 2
{a)  HENAUE W (B) TH @I
(C) T Fd D) HH e |
106. The tomb of Shelkh Salim Chisti is located at
(A)  Agra (B) Delhi
(©)  Fatehpur Sikri (D)  Ajmer.
@ weita fovdt =1 e el feud & 2
() T H B fe=id
(€ TR Hiwd | (D) 3SEERH |
107. The author of ‘Nuh-1-Sipthar’ is
(A} Amir Khusrau (B) Malik Mohd. Jaisee
(C) Dara Shikoh (D) Shetkh Nizamuddin Auliya.
‘¢ fafrgr’ & o €
(A4 R gEr (B) wfs TewR S
© I e (D) Y e sitferar |
108. The chief centre of Chisti School in South India was
(A Gulbarga (B) Golkonda
(C] Bijapur (D) Bidar,
efero s o favdlt faofae &1 vq@ = @1
(A) TR (B) TEFUST
(€) #rR D) e |
109. The place where Saint Dadu dled is
(A) Sambhar (B) Amber
(C] Narayana (D Pushkar.
T <Gl g o A Wgs ?
(A) T (B) T
(C) e (D) T= |
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110. Where Saint Jambhoji was born ?

(A)  Pipasar B) Gagron
{C) Jaitaran (D)  Nagaur.
T S G Sl g o ?
(@ R (B) TR
(© SRw (D) MR |
111. The meaning of the word ‘Dastak’ is
(A}  Slavery (B} Factory
() Port (Dl Duty-free trade.
‘T R A AR ¥ 7
@ e B) e
(€) 9E=TME (D) I TE =R |
112. Who was the ruler of Chittorgarh during the invasion ( 1567-68 ) of Akbar ?
(A)  Maharana Pratap B Maharana Udai Singh
(C) Jaimal (D}  Maharana Amar Singh.
s % fadieTg W sy ( 1567-68 ) % 9HG 98] #1 TINE SiF 4 ?
(A) TERMT WG9 (B) TR 3I7g fHE
(€} waud (D) WHERI 3 fEg |

113. Which of the following Mughal emperor's reign was known as the golden period of
Hindi literature ?

{A]  Aurangzeb B) Akbar

(C) Jahangir (D)  ShahJahan,
fra g SRITE F w1 # et Tiec 1 @0l g wE S R 2

) FHHeE (B) 9T

Q) eI (D) WTEEl |

114, The French traveller who visited India for six times was

(Al Menucci (B) Bernier
(C) Thavenot (i Tavernier.
FH-F WEEE A S DT AR A A R 2

@ T |) affm

(S C T (D) R |

IKRUETIR | BT,
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116,

117.

118.

119.

120.

o6

How many ranks of Mansabdars have been mentioned by Abul Fazl in his
Ain-e-Akbart ?

A 22 (B) 33

(C) 44 (D) 66,
FA-T-FFA B AGA Flel A FAHAGRI H w1 AP = Ivoa fea 2
a) 22 (B 33

@ 44 (D)  66.

Who was the leader of First War of Independence ( 1857 ) at Kanpur ?
(A)  Tantya Tope (Bl  Laxmi Bal

(C) Nana Sahib (@)  Kunwar Singh.

YR % RYH Tl S0 (1857 ) i FAR A A9 fww fem @ 7

() dic I B) e

(€ T WS (D) ¥ fdE |

Who is the author of ‘Majha Pravas’ written during 1857 ?

{a) Vishnubhatt Godse (B)  Sitaram Pandey

(C) Narget (D)  Mangal Pandey.
1857 % A Tafaa &= ‘argn wam' & oaw §

() Tawpag vied B) ERM e

€ TR (D) HTA WvEE |

Who has given the title of 'Rani” to Gindalau, the great Naga female leader ?
(A) Rabindranath Tagore (B) Mahatma Gandhi

(C) Jawaharlal Nehru (D) Subhash Chandra Bose.
TgM = Hfgen figey &1 ' &t Iufy faem & ot ?

() ey 2r B)  wETeW Wikt

C) TEEEE TR (D) |vm 9% =9 |

In which language has Mahatma Gandhi written his autobiography ?
(A) Hindi (B) Marathi

() Gujaratt D) English.

HETeHT THHT 3 ST e fRw v A T ?

A = B) WS

(C) Tt (D) 3t o

In which year did British Parliament pass a law through which has taken overall the
rights from East India Company ?

(A) 1858 B 1859

(C) 1860 (D) 1861.

fafen dug + frm od S ow = = e st F AR wftrer o fod 2
(A) 1858 B) 1859 '
(C) 1860 (D) 1861,

THLGEREA DA 201
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122,

123,

124,

125.

87
The Constitution of India was adopted on
{d)  15th August, 1947 (B)  26th January, 1950
(C)  26th January, 1949 (D) 26th July, 1950.
iRy dfqur e fFa =
{A) 1537, 1947 ® (B) 26 SFadl, 1950 #
(C) 26 FFad, 1949 FI (D) 26 J@%, 1950F |

L-2

How many fundamental duties have been mentioned in the Constitution of India

Part 4, Article 51-A ?

A 10 B 12

) 15 Dy 11

W Sfqum wm- 4, ¥V 51-u § At F fhat g awieg afvie & 2

A 10 (B) 12

(C) 15 (D) 11.

When was the first meeting of Constituent Assembly held ?

(A} 15th August, 1947 (B) 26th November, 1949
{C) 9th December, 1946 (D)  26th January, 1930.
dfaum fm w91 Ft veel do% F9 dEfm | 7w o ?

{A) 15 37TH, 1947 B) 2679=R, 1949

© ofea=r, 1946 (D) 26 9&d, 1930.

In the Constitution of India the number of Fundamental rights after 44th Amendment

is

A 6 | 7
c 8 (D) 5.
wrdr dfaur § 44 § SR & wvar g9 sfusil ) e §
@ 6 B 7
c 8 (D0) 5.

Which is not a characteristic of the Constitution of India ?
{A)  Democratic system

(B) Fundamental rights and duties

(C) Employment guarantee to every citizen

(D} Independent judiciary.

ydia dfaum %t FH-d) fadva 72 & 2

) WSS T

(B) W& AUFR TH FAHA

(C} WS A FT USPIR F GRaT

(D] Ted= =rEqfe |

AU
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126. The number of Lok Sabha members ¢lected from Rajasthan is

@ 21 B 26
(€) 30 (D) 25,
TERYF A wre & forg fraffaa ae=iil #) e

@A 21 (B) 26
€ 30 D) 25

127. The President of India is elected by
{A]  the people of India
[B] elected members of both the houses of Parliament and State Legislative
Assemblies
(C)  the Prime Minister and Council of Ministers
(D) all the Chief Ministers.
A 1 Tgufa g9 mar &
(A) WG & TR g
B) HHZ ¥F i A wd Uy fayrmen ¥ freifas ge=a g
(C) Wy Td Afefg & " g}

(D) ¥ qEAElEgl 3 |
128. Who is the Supreme Commander-in-Chief of India ?
(A)  The Chief of Army Staff (B)  The Chief Justice
(C) The President (D)}  The Prime Minister.
RA &1 TS Fta R 2
@) vTE wAnaEy (B) He& =ai|
(€ g (D) WU
129, The Chief Justice of the Supreme Court of India is appointed by
{A) the Vice-President (B) the President
(C) the Prime Minister (D)  the President and Prime Minister.
W T WaT araed % I Aanin #1 5w st
() IU-TEIR B) ugdfd
() wurREl (D) Tw9fd vd geEwsE |

130. Who is the Speaker of Rajya Sabha ?
(A) The Vice-President
(B] The Leader of opposition
(C) The Home Minister
(D) The person elected by the members of Rajya Sabha.
TEN] T WA FIH B § 2
() I9-Tu (B) faaer &1 3
(C) T Hll (D) TeEE & weEl g fHaffaa =fE |
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131.

132.

133.

134,

135.

136.

89 -2
The largest continent of the world is
{A)  Africa (B  North America
(C) Asia (D)  Antarctica.
gt 1 Wed Ter e ¥
(A)  FABIH (B) I AT
(©) ufvrEn (D) UeRhfea |
‘U’ shaped valley Is formed by
{A) rivers (B) glaciers
(C) winds (D) underground water.
‘U SR F 9 Ffifa @t
(A A g B feFr g
(C) w3 g (D) T ¥ e W
In which rocks are layers formed ?
{A)  Igneous (B) Metamorphic
(C) Sedimentary (D)  All of these.
o feT =g 0 e € 2
A = (B) R
(© s=Erd D) T AT
The lowest layer of atmosphere is
(A)  Stratosphere (B) Troposphere
{C] Ozonosphere (D) Ionosphere.
TS i wua fEet wa ¥
(A} gHAEHTST (B) &nRWTSH
(C) SSrEEA (D) SMTATEY |
The sea having maximum salinity in the world is
(A) Red Sea B) Arablan Sea
[C] Dead Sea (D) Baltic Sea.
fave 4 waifeer wEomE aen gew ?
(A} TR EITR (B) I IR
(€ 7T R (D) =ifees TR |
Which reglon of India is associated with ancient Gondwana landmass 7
(A) Himalaya (B]  Ganga Basin
(C) Thar Desert (D) Deccan Plateau.
IR 1 BA-H W2 WHEHE MEIE Y- § Trafad § ?
(&) femem B) m = ARE
(€ 9N "EEd D) w1 W |

QU T | PTO.
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137.

138.

139.

140.

141.

90
In which type of forest 1s Sundari tree found ?

(4) Tidal forest (B) Temperate forest
(C) Desert forest (D)  Mediterranean forest.
gt gufF yen s s S o ST # 7

@ g | i T

(C) FEEyet (D) YHEERIE 57 |

The cause of winter rainfall in Northern India is

(&) South Western Monsoon (B) Western Cyclonic disturbances
(C) Cold wave (D)  all of these.

Iadt wra ¥ ¥iiawwee aut & Fee

(a) el sfeedt 9FgA B ufrad Swams fasgiv
(€) ¥iig v D) FTHATH |

Sindri is famous for the production of

(A)  Petro-chemical (B) Cotton textile

({C) Chemical fertilizer (D) Cement.

fors} frmss a3 forg wfas & 2

A ¥-TEE | M T

©) TEERE SEE (D) HWve |

On which river is Bhakra-Nangal Project located ?

(A)  Satly] (B} Ganga

(C) Ravi (D) Vyas.

- A R R W feer & 2

A) TIAR (B} U

© e (D) =W |

The main soyabean producing districts of Rajasthan are

(A}  Ganganagar — Hanumangarh (B) Kota— Baran
(C) Bundi — Tonk (D}  Jaipur — Dausa.
o™ § e % WYY SRS e §

(&) TR — FATE (B @R —w

© I —3I= D) AR —

NG I 701

https://www.pyqonline.com


https://www.pyqonline.com/

[a] 91 L2

142. In which district of Rajasthan is Tungsten produced ?

(A) Bhilwara (B) Udaipur
(C) Nagaur (D)  Jaipur.
A F Fa R AR R gm g 2

(4) TS (B) IWIL
() iR D) AR |

143, Rainwater harvesting is beneficial for
(A)  trrigation
(B) agriculture
(C)  production of hydroelectricity
(D) improvement of underground water level.
Ul T FAE TNEF ©
() e ¥ fee B ¥ % fag
(€ v forpa 3R % fog (D) WA W TCYRA F A |
144. In Rajasthan, cities located on National Highway No. 15 are
(A) Bikaner — Nagaur — Jodhpur — Pali
(B) Ganganagar — Bikaner — Jaisalmer — Barmer
(C) Jaipur — Ajmer - Udaipur — Dungarpur
(D) Jaipur — Tonk — Bundi — Kota.
TS A TE OeEm- 15 7 e R E
(A) TRER — AR — SR — e
B) T — AR — S — AR
© AR~ HW— IR — FRE
(D) AR — TF— qq — Fre |
145, The second highest peak of Aravali is

A) Jarga (B8) Ser

(C) Taragarh (D)  Achalgarh.
ST 1 TH0 I e ]

(A) vOm B W

(C) wmrTe (D) =R |

LT | PT.0.

https://www.pyqonline.com


https://www.pyqonline.com/

L-2 92
146, Who was the ruler of Kota during 1857 mutiny ?

(A} Maharac Ram Singh [ {(B) Maharao Ram Singh II
{C) Maharao Madho Singh I (D) Maharao Ummed Singh I.
1857 = 14 F HHA HIel F Aaw 91
(A wEnE TH fdw 1 (B) wemwr= wH fHz 11
(C) wewRE T faw | (D) WERmE g fHig |,
147. The famous Salim Singh Haveli is situated at
(A)  Nawalgarh (B)  Mukandgarh
(C) Pllani (D) Jaisalmer.
yias wifem fug eaoi fem @
(A TaerTe (B) TF<TGH
€ furet & (D) SEERF |
148, In which district is Gogamedi fair held ?
(A}  Bikaner (B} Ganganagar
(C) Hanumangarh (D) Churu.
forg fom o WihmiEt S T € 2
@A)  FEE B TR
[C] wIArFTE o 951
149. The forl where British General Lord Lake attacked five times, but failed, is
(A} Lohagarh, Bharatpur (Bl  Bala Fort, Alwar
(C() Mandalgarh, Mandalgarh (D)  Achalgarh, Abu.
o foven, T R et SR @€ 9% 1 Wie a1 T W, g oTERe gen,
(A) ERTREG, MEQ (B) e foe, SremEt
[C) TSR, HISEFTG (D) 3TeeTe, AN |
150. The first President of Mewar Praja Mandal was
(A} Manikya Lal Verma {B) Balwant Singh Mehta
(C) Bhurelal Baya (D) Ramesh Chandra Vyas.
TETS Wol AU & WUH A7 &
() i o S (B) SaEd fag dwal
(C) prena s (D) TIIRAEW |
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INSTRUCTIONS /
{ Read carefully zad comply / ¥ m’aﬂ? e W)
IMPORTANT .|I'

h Sccl:mn Il {Language 1 a ca.nchdat.e has to attempt the questions of the language which the candidate has gelscted as
e 1 m 3.gn.hm': Appl tlon Form.
W ||

F 7w AR faw w7 e e ¥ o 1 & w T e e @ e
In Settlon III [L-angt. age ll] a candidate has to attempt the LH.LE-'S'.IIJHE of the language which the candidate has selected as
Language 1] in Ilmc Application Form, The Language 17 will be different from Language
TUE U IA A F A B F S0 e ¥ T o e anaet A S % mﬁﬂFﬁE-iﬂéﬂﬁﬂFﬂth o # o il
The candidate 1:;]%! ensure thit the uestion Booklet No. has been filled correctly at the prescribed places in the OMR Answer Sheet.
OMR ¥iz # T T X et wwim W W ¥

The candidate has to answer of I.hat subject in Section ([Va) Mathematics and Science oz {(IVh) Social Studies as selected by the
candidale in the Online Application Form.
If a candidate answers l?u: questions of the ]undzuage or subject other than selected in the Online Application Form, the
candidate shall be personally responasible for it and 1t would be tn:a.tcd AS WIron

4l I T8 5 T W&Wa: o faam o vy A ﬁ%ﬁﬂ&smﬂmm%ﬁmﬁuuwﬂm
2 el I 9 |
TR et 3 A aEeT 93 F 9gi W @ faeg & avE e T w9 I 1 o faen & et B AW g & o g e
#t = 3 Pt aivit w9 A HoT AR

10.

11.

13.

14.

Read complete instructions carefully and fill the details from SI. No. 1 10 6 in the OMR Anawer Sheet and Sl No. | to 4 in the

Question Bocklet. [f you foil to fill the details apd si aa instructed correctly, you will be personally responsible for the

consequences arising during scanning of your Answer S

ik E w%ammcﬁ:#r,ﬂmounthz mlﬂammqﬁﬂmwﬁh ﬂﬁwﬁ!mmmﬂ
T TR a ot oMR T B O & BeEes 6 99 ST F $ s | e

OMR Srect Mo. should be written in the space provided in the Question Booklev,

OMR Wiz TEA 7 gfeernn & € mdl it WA o1 v A @il

The Question Booklet comprises 96 having 150 questions. After being instructed to open the Booklet, only then the candidates

will open the Question Booklet seals. kwt :ﬂncr the E!Wkggtcmtams 150 questions s a%frufn Page No. 3 to??Z

W !I%TE‘EUH"ISOWH T & W g & wem e &

150 /A & 1 o 7% 9 3 mu’m gnmrh

All questions are of MCQ (Multiple Cholee Questions) type. There is only one corrcct answer to cach question carrying ooe

mark. There will be no ncgltl.vl marking for

wWlt w7 WEfimedr BwR % £ TR T O e § %t.mw%mmﬁd o Wk ¥ | e v % Fd T aiw AT g i

All questions other than language questions of Bections I[ and I shall be bilingual.

W OX ¥ WY R 0% T m % A % Shite v et st & o fipmia ait

In any event of an n'usl.ak: in any question/s, cundidates will not be penalized, Howover no corrections will be made in

s_nc-nfsdhrm m ation, . . .

) 3% R e o T B | i F) 3y J wwEl F e s w dvhe T Svan o)
Rough work 11’ any, may hc done in the Question uc—ldc only in the space provided at the end of the Booklet. Do not tear it off
from the Question Booklel, No additional paper shall be provided
e 56K ¥ % % A W [ F OF 5 7 R 9 I )R TR # 7t wd 1 Fewlt R W A S TR S A
Use of Log tabies, Calculator, Slide rule, Mobile phone, Pager, Digital diery or any other electronic it /inslrument etc. is not

?wo:'%;dﬁ ‘ﬁﬂm *mnﬁt:“n%:rﬁaﬁﬁ feclienr =Prt W fiFelt 0 TR W WET IO/ 99 7 W o § T

OHR Mswcr Sheet will be provided alur:*mth Question Booklet separately.
OMR Y2, B¥4 Qe F 9

The Question Booklet will be issued at 1:45 P M and the candidate must fill all entres in Question Booklet and OMR Angwer
Sheei, The Questiop Booklet seals shall be opened at 2:00 P.M. Alter opening the %uextmn Bogklet, enaure that any mpagej
question is not missing / not printed / u:n‘:_l,’ repeated. In cace, you find any delect anywhere in the QUHTJD'I Booklet, immediately
inform the Invigilator and tl it replaced 10 minutes by the Invigtatar Wa.rmng Bell wili ring at 3:25 P.M. and the last
Iong hc!l wul T at 330 P

z z‘:g(1¢sﬁﬂﬁﬁiﬂ§ﬁmmﬂmmaﬁ?ou3vﬁaﬁﬂﬁ&ﬁﬁﬂ|mr-l 7 % e
E?ET-‘-"I a?r LiLL] 20 T, SR AR LS
ko v/ wwﬁ#tmaﬂiqﬁmu wtlaﬁwmﬁuﬂuﬁmmﬁmm mgamr
10 firfe & iR dyes & 1 5 ) et 4 T 3:25 W T o =T 3:30 W EEY

Write your Exam Centre Code, Roll Na., O-HR .A.nawcr Sheet Mo., Question Booklet No., Name and put your Signature in the
space provided in the Question Hooklet as well as in the OMR Answer Sheet

T T 4 OMR 2 T AT TR W G 2 & WIS, e TR, OMR ¥ B, We g i, A frd @ a0t vemR W)
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carelully and find
out which answer, accordmg o you is correct, Indicate your answer by darkening the appropriate circle carnpletely in the OMR

AI-]:swr:crl Sheet cnrrcapondlrg to the question. For marking answers use blue/black ballpoint pen only. Gel pens [ pencils are not
alowc

YeiE 97 % TN AFPIE T A, 8, A D A A M ) 5 B OR wE 9 T W 39 F T 1 365 39 S oMR He # watm
%Tmtmaﬁm'ﬂﬁﬁmrﬁmﬁrnﬁaﬂmk A @ e A A E I W) S 9 o 1 3gem

|
Correct method ¢ | CORRECT J w8l Wrong method ; | WRONG / TR WRORG | TP WRONG | T WRONG / TTPIE

P QOO @ maw: |BOOO| |OQ00| |0000| |ICe0®

OMR Angwer Sheet is designed for campuler evaluation. If you do not follow the instructions given above and shown in the

OMR Answer Sheet, it mﬂy make evaluation by computer difficult. Any resuliant loss to the candidate on the above account

shall b-e cf the ca.nd;o.ate only.

OMR TiE FRT T fﬂﬂmwimmm ?ﬂaﬁ%ﬂnﬂﬁ&ﬁ'ﬂmﬂﬂ?ﬂwﬂ At TR ERT
'—Iﬂmﬁn m&m ST ¥8 R @ it ) O A g.?:&qﬁ

No can idate should leave the Examination Hall before the J‘maJ bell. The Qucsno's Bookl-t as well as the OMR Answer Sheet

ggu :{; dcdﬂ-geaa%g%hﬁ to the [nﬂgllatorq&fnre%ﬁ% Exarmn I..an 2 oMR e 7 ¥ qﬁ?mr 2 B e
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SECTION -1
CHILD DEV. &
FEDAGOGY

1

W03 |~ |On LN B | L |

T [ po Tpo [ [ ro (oo maro ro e re e e 2 2 2 e e e 2 e

RTET-2011 LEVEL -1l (BOOKLET SERIES - A)

fOf"JZPPcacn:ﬂ-::-mﬁm}-;:ﬂ-homn:ﬁﬁgﬁbcbﬁﬁ:}ﬁpg

SECTION -1l
LANGUAGE -1
~ HINDI | ENGUSH | SANSKRIT ~ URDU | SINDHI  PUNJABI |GUJRATI
3108 31 B 31 C 3 C |3 B 31 C |3 C
22 D 32 A 32 D 32 D [32 8 32 B |32 A
33 A 33 D 33 8 33 C |31 ¢ 33 ¢ 33 8
34 B 3 D |34 B 38 B [3 C 3 D |3 C
3 D 35 A 35 D 3 D [3 C 3/ D |3 A
3 A 3% B [3% C 3% B 3% A 3 B 3 O
37 B 37 C |37 D 37 A |37 A 37 B |3 C
33 B 3% D 3 D 38 B [38 D 38 D |38 C
39 C 39 B 39 B 39 C |39 B8 39 B 39 A
0 D 4 B |40 D 40 D |40 A 40 B |40 B
40 A 4 C |4 D 4 C |4 D 4 D |4 B
42 8 42 A |42 B (42 B |42 A 42 B |8 C
43 A 43 D |43 B 43 C |4 B 43 A 43 B
44 C 44 B 44 B 44 A |44 C 44 B 44 D
45 C 45 A |45 A 45 D |45 Cc 45 45 B
46 A 46 C |46 C 46 A |46 A 45 B 486 D
47 A 47 B |47 B 47 B |47 B 47 C |47 D
48 B 48 A |48 B 48 B |48 B 48 B 48 A
49 A 49 A 49 D 4 D |49 C 4 B 43 B
50 C 50 D S0 A 50 C [S0 A 50 A |50 C
58 A 51 C |5 ¢ 51 B [s51 B 51 ¢ |5 ¢C
52 B 52 B |5 B 5 C |52 D 52 B |5 C
53 C 5 D |53 B 5 A [s53 D 53 C |53 8
54 B 54 C |54 A 54 C |5 A 54 A |54 8
5 A 55 B |5 A 5 C |5 B 55 A |55 A
56 D 56 A |56 A 5 D [S6 D 5 B |56 D
57 A 57 A ST A 57T A |57 c 57 D |57 A
58 C 58 A |58 B 5 C [58 A 58 A |58 A
59 D 5 C |5 D 5 B [5 D 5 B |5 D
60 A |60 B |60 B |6 D |60 C 60 A |60 B

. .._um%. 10f2
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SECTION -1 SECTION - IV (a) SECTION - IV (b)
._.}an}mm.__ MATHS. AND SCIENCE SOCIAL STUDIES
HINDI | ENGLISH SANSKRIT ~ URDU  SINDHI | PUNJABI  GUJRATI |

6L D 61 C 61 B 61 C 61 C 61 A 61 C 91 A 121 B 91 A 121 B
62 B 62 A 62 C 62 D 62 B 62 A 62 B 92 8 122 D 92 C 122 A
62 D 63 B 63 B 63 C 6 B 6 A 6 A 93 D 123 A 2 B 123 C
64 A 64 A 64 D 64 D 64 A 64 C 64 B 9% C 124 A 94 B 124 A
65 D 65 D 65 B 65 C 65 C 65 D 65 A 9%5 A 15 C 9% € 125 ¢
66 B 66 D 66 C 66 B 66 A 66 B 66 C 9% D 126 D 9% A 126 D
67 D 67 C 61 A 67 C 67 C 61 B 67 D 97 B 127 C 97 B 127 B
68 D 68 A 68 D 68 B 68 A 68 D 68 B 98 C 128 ¢ 98 D 128 ¢
69 D 69 C 69 B 6 C 6 C 6 D 69 B 99 B 129 A 99 B 129 B
70 C 70 B 70 A W A W A 0 C 70 C 100 C 130 A 100 D 130 A
7.0 72 D 71 C 71 D 71 A 71 B 71 B 00 C 131 ¢ 01 D 131 ¢
72 C 72 A T2 A 72 A 72 B 72 A 72 A 02 B 132 D 102 B 132 B
77 A 7 C 73 C 73 A 73 D 713 C 73 C 103 D 133 A 103 ¢ 133 ¢
74 C 74 B 74 B 74 B 74 C 74 B 74 B 104 D 13 8 104 A 134 8
75 B 75 D 75 D 75 C 75 B 75 D 75 D 105 B 135 C 105 D 135 C
%6 D 76 C 7 B 7 B 76 C 76 D 76 C 106 A 136 D 106 C 136 D
77 A 77 A 77D 77 C 77 C 77 A 77 D 07 C 137 A 107 A 137 A
78 C 78 B 78 C 78 B 78 B 78 B 78 A 08 A 138 C 108 A 138 B
7 A 79 D 79 A 79 A 79 D 79 D 79 B 109 D 139 A 109 € 138 ¢
80 B 8 B 8 C 8 A 8 B 8 A 8 ¢ 110 B 140 B 110 A 140 A
88 D 8 C 81 B 8 C 8 D 8 B 8 D 111 A 141 D 11 D 141 B
82 A 8 A 8 C 8 D 8 A 8 A 8 D 112 D 142 A 112 B 142 C
83 C 8 C 8 A 8 C 8 A 8 B 8 A 113 ¢ 143 ¢ 113 B 143 D
84 C 84 B 84 C 8 A 8 B 84 A 84 B 14 B 144 D 114 D 144 B
8 C 8 A 85 A 8 B 8 D 8 D 8 8 115 ¢ 145 A 115 D 145 8
8 A 8 B 8 B 8 B 8 D 8 B 8 C 116 C 146 B 16 C 146 B
8 A 8 D 8 C 8 A 8 D 8 C 8 D 17 B 147 C 117 A 147 D
8 A 8 A 8 B 8 B 8 B 8 B 8 A 118 B 148 A 118 € 148 C
89 B 8 C 8 D 8 D 8 D 8 A 8 B 19 B 149 C 119 D 149 A
90 C 9 D 9 B 9% C 9% B 9 D 9 D 120 D 150 D 120 A 150 B
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